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Note : Answer all the three questions. 

1. Answer the following question in about 

1000 words. 

Describe the characteristics of a well integrated 

personality. What role do heredity and 

environment play in the development of a child's 

personality ? 

OR 

Explain "giftedness" and "creativity". Trace the 

characteristics of children with special abilities 

and the possible associated problems. 

2. Answer the following question in about 

1000 words. 

What is interpersonal communication ? Suggest 

ways to communicate effectively in the classroom. 

OR 
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Describe the characteristics of slow learners. How 

will you help slow learners to cope with their 

specific problems ? Suggest ways of coping with 

them. 

3. 	Answer any four of the following questions in 

about 250 words each : 

(a) Discuss the impact of mass media on the 

lives of children. 

(b) What is the role of a teacher in the emotional 

development of children ? Explain with 

examples. 

(c) Explain the term "deprivation". What are 

its consequences ? 

(d) Describe the therapeutic uses of play. 

(e) Briefly discuss some problems associated 

with the physical development of children. 

(f) Describe two ways in which parents and 

teachers can cooperate to provide suitable 

reading materials to children in school. 
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